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2 Bugs
2.1  Either re-interrupt this method or rethrow the "InterruptedException”.
} catch (InterruptedException e} {

Either re-interrupt this method or rethrow the "InterruptedException”. Why is this an issue? 142 H v L1723 %
¥¥ Bug >~ @ Major~ O Open~ TTE|X| &S » 15mineffort THE W Notags ~

Thread 2#E InteruppedException= CHA| B == QUCH

Thread Interrupted Exception@l &<, Error7t YMSIAS M &S| Thread?t =Xl <

ol g AZ A1 it

Thread.currentThread().interrupt(); //3 7+
watchGUIl.java Line 1723, Buzzer.java Line 45, 69

2.2 The return value of "plusYears" must be used



[20-1] ZAZCHSD AZEQ|O VAV T2

if(returnTime.getYear()»>9999) {//9999 O/ &2/ H 2 9 =2E THA Al S
returnTime.plusYears(-1eee@);

The return value of "plusYears" must be used. why is this an issue?
¥¥ Bug v @ Major~v O Open~ TEEX 22~ 10min effot ZHE

162 H v 152 %
¥ Notags =

plusYearsOi| CHoF 2|H ZLO| AFEE[X| 411 QUCH

Ex returnTime.plusYears(10000);

= LocalDateTime time = returnTime.plusYears(-10000);
WorldTime.java line 52,55
CalorieCheck_Pane.java 33,47,128

3  Code Smell

3.1

3.2

Add the "@Override" annotation above this method signature

public void paintComponent(Graphics g) {

Add the "@Override" annotation above this method signature Why is this an issue?
@ Code Smell * @ Major» O Open~ LK 22~ 5mineffort IHE

162 T v 134 G
W Notfags =

Override 7} #11

Alarm_Pane.java line 34 , 48 , 134
SetMode_Pane.java 31,45,114
Stopwatch_Pane.java 31,45,125
TimeKeeping_Pane.java 33,47.133
Timer_Pane.java 32,46,127
WorldTime_Pane.java 31,45,126 , 200,208,211

ModeManager.java 48

This block of commented-out lines of code should be removed.
K| 9&MO0F st= 2[B|gle 4 Line

watchGUl.java 291

Alarm.java 28

CalorieCheck.java 7

CalorieCheck.java 149, 168

ModeManager.java 64,68,71
Tick.java 73
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3.3 This case's code block is the same as the block for the case

ey e -
getTimeKeepingPane().getCursorlabel()[5].setVisible(true);

for(int i=-0@; i<4; i++) getTimeKeepingPane().getCursorLabel()[i].setVisible(false);
break;
case 1:
getTimeKeepingPane().getCursorlabel()[4].setVisible(true);
for(int i=8; i<6; i++){
if(i != 4) getTimeKeepingPane().getCursorLabel()[i].setVisible(false);

break;
case 5:
getTimeKeepingPane().getCursorlabel()[@].setVisible(true);
for(int i=1; i<6; i++)getTimeKeepingPane().getCursorlabel()[i].setVisible(false);
break;
case 6:
getTimeKeepingPane().getCursorLlabel()[5].setVisible(true);
for(int i=@; i<4; i++) getTimeKeepingPane().getCursorlabel()[i].setVisible(false);

break;
This case's code block is the same as the block for the case on line 1019. Why is this an issue? 132 H v L1054 S
@ Code Smell> @ Major» O Open~ ZEEX| %8 ~ 10min effort IHE ¥ Notags +

Case 0,Case 6 O] &2 LHE2 21 /US

Ex) Case 0 : case6 : (code) break;

watchGUIl.java 1054->1019 ,1060->1029

34 This line will not be executed in a loop; only the first line of this 2-line block will be. The

rest will execute only once.

//set cursor image && choose visible cursor

for(int i=@; i<2; i++) getCcPane().getCursorLabel()[i].setIcon(cursorSmallImg);
getCcPane().getCursorlabel ()[@].setVisible(true);
getCcPane().getCursorLabel()[1].setVisible(false);

getCcPane().getCursorLabel()[@].setVisible(false);
getCcPane().getCursorlabel ()[1].setVisible(true]);

This line will not be executed in a loop; only the first line of this 2-line block will be. The rest will execute 132 7 + L1489 %
only once. Why is this an issue?

@ Code Smell * & Major v O Open v TTEX| 22~ 5min effort ZHE W Notags »

=

for22| (B¢ B=tstA 5 #n
watchGUIl.java 1489
3.5 Either remove or fill this block of code

catch(InterruptedException e){} O] &2 Error logs Error7} 28 &

ox
o
4
el
o
ot

Bs 27}



[20-1] AZCHStm AZTEQO] V&V T2

Buzzer.java 45 69
ModeManager.java 246,267,269

3.6 Remove this unused method parameter "flag".

ParameterAt8 Qt&h | parameter X| 27|

CalorieCheck.java 86

3.7 Update this method so that its implementation is not identical to "getCursor" on line 91.

public boolean ngetCursor(){retur‘n cursor;}

public void setCursor(beolean cursor){this.cursor=cursor;}

1o
*/
publie void changeCursor() {

cursor = !(UF‘SDF‘J'

3

Update this method so that its implementation is not identical to "getCursor” on line 91.
Why is this an issue?

& Code Smell+ @ Major~v O Open~ ZEEA &2~ 16mineffort EHE

122 F « L103 %

¥ Notags =

&Y%t Method EX isCursor ,getCursor

CalorieCheck.java 103->91
3.8 Remove this unused private field.

AHESHA| E= s X 27|

F|I'

ModeManager.java 50,57,
StopWatch.java 32

3.9 Remove this useless assignment to local variable "future".

AFESIX| &= “"future” variable

ModeManager.java 77

3.10 This branch's code block is the same as the block for the branch on line 199.
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3.11

if{elapsedTime >= 5.0f) [N { /lelapsedTime & 5= H&HZ OF &5/ defaultScreenS .

((Alarm) modes[1]).savellarm();
isEditMode = !isEditMode;

}

else if(Button == @) J/Mode : Cursor S
((Alarm)modes[1]).changeCursor();

else if(Button == 1) { //AdjustE T &S & HEHIH defualtScreen =2,

((Alarm) modes[1]).saveAlarm(};
isFditMode = !isEditMode;

X

4 Redmin (Issue Traker)

#
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This branch's code block is the same as the block for the branch on line 199. Why is this an issue? MY H v 1208 %
@ Code Smell v @ Majorv O Open» ZEEA 22~ 10mineflort THE W Notags v
o
Z2 code block
=  elapsedTime >= 5.0f || button == 1
ModeManager.java 208
M M M n "
Remove this expression which always evaluates to "true
public boolean decreaseTimer() {
Jf TODO implement here
if( n pauseTimerFlag){
return false;
1
Vi
I timerTime = timerTime.minusNanos(10000000);
if( IpauseTimerFlag){
Remove this expression which always evaluates to "true” Why is this an issue? 162 H v L138 %
& Code Smell v+ @ Majorv O Open~v LA 22 » 10mineffort EUE W Notags
H k=3 el o O
Line 1312 &= I3, 1382 FZ=U True
0o o H AKX 1=
> If£2 X|2AL ifttrue) 2 =3 7ts
Timer.java 138
88 dH edsd s aan a
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